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#E | FM2EEA) K4 #R3E FT IR
1 40,000 H X ¥k EHE
2 320,000 2% Bk | ARINIE
3 10,000 FiR &4 ¥k FER
4 150,000 HE ZHR ¥k FER
5 50,000 FR iR ¥k R
6 240,000 He Ih ¥k BRI
7 80,000 #®wAR BE | BERINIE
8 20,000 m oE— ¥k FINE
9 50,000 e 1EE ¥k BRI
10 10,000 X% =5k | BERINIE
11 5,000 Nt Bt ¥k EZHE
12 10,000 E=H W ¥k BER
13 60,000 FE EE Fx FER
14 45,000 f2H 5t ¥k RIEH
15 15,000 B TR ¥k FER
16 60,000 XS {BE Fx B3
17 15,000 X#¥ &iE Fx RIEH
18 150,000 Mg =F Fx RIEH
19 450,000 M5 R ¥k RIEH
20 60,000 ED EB ¥k FER
21 60,000 ik B ¥k FER
22 30,000 =N E=— ¥k FER
23 30,000 wmE ik ¥k RIEH
24 15,000 iR fE— ¥k RIEH
25 30,000 FEiE & % | #RIE
26 120,000 5% HE ¥k RIEH
27 360,000 Hroh 2 % | #BRINIE
28 60,000 kiE ¥k RIEH
29 90,000 R BR—BER | Ek RIEH
30 120,000 R F ¥k RIEH
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&5 | HMeBEME) K4 ERE AT IR
31 50,000 EE E# E RIRER
32 15,000 = Mt ¥k BER
33 60,000 BHO @F E RIRER
34 15,000 =2 ' ¥k FER
35 100,000 IREA 757 ¥k FER
36 40,000 FCH IR ¥k RIRER
37 10,000 %k 52 % | #ARIE
38 30,000 A =& | ARINIE
39 60,000 BRI it | %% RIRER
40 2,000 BE CH Fk FER
41 20,000 BmE B ¥k FER
42 10,000 EFH —% ¥k RIRER
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